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1 The table represents the number of computer tablets sold. Determine the average rate of change
over the interval 1/S\x <4 / 12% - 2 q (0
/ P T — =
Week (1N 3/ 4)s 0o 3 @
Number Sold | 32 | 96| 128 | 224
2. Determine whether each relationship is a function? Justify.
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3. Given the following points, first find the slope of the line passing through the pairs of points and

then write the equation of the lines in slope-intercept form.
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4. Is the ordered pair (3, 1) a solution to the linear equation y = 2x - 77 Justify.
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(#5-8) State the slope and y-intercept of the graph of the following linear equations.

5; y=x+1 6. y=7x-5
= | M ="
b=(0,1) o=(0,-5)
7. y=-4x+2 8. v=§x—3
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9. Write an equation of a line that passes through the point (5, 11) and has a slope of -4.
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10.  Find an equation of the line passing through the points (3, 5) and (5, 15).
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11.  Does the point (1, -1) lie on the line 3x + 7y = 97 Justify.
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Heights and Weights

of Team Members
12.  The graph shows the relationship between the heights and

weights of the members of a basketball team. Is the relationship §
represented by the graph a function? Explain. :.;J
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Given the following information on four different relations, which representations are functions?
Circle all that apply.
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(#16-19) Write the following equations in slope-intercept form. Then, identify the slope and y-
intercept of each equation.

16.  @x+5y=10 17. X+ 3y =54
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18. -y=3x 19. Mox-12y=24
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20.  Given the linear equation: y = %x—3

PartA: Graph the following linear equations using either the table method or the slope-intercept form.

il Part B: What are the slope and y-intercept?

B o= (8es)

L1 —) PartC: In which quadrant will the graph of the
477 1% line never pass through?
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